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RERERFETPROMAES . BIHBIFHMENGET, #—-SRAFENREERES, %5
FEMNFEETHE. XENEMFEE. FH, BEETD, ATEEREBRRNETIE,
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EBEENEBRALHEERBREENAREABSREEXERENEM. AILMRENEE
Rt H 30 /ME, H515%, RERMFASHIERE, ALENEBEAPFEFLXEE, LK
b, WHCEMK/DRIFILEAENNEEA U RIFICH S N85, THEMESE R s H
SRS, BAEARZE RSP, ALEFEMAWEEENFELRANFKFELEHORARS, WE
THEAE PRGN R EEBR KT LRGN AR HER., HiEER. 5%, S8
EEREERSEANATE, AICARAARRBHIEESINER, Bit, ECREE4ANRZ
MESTE A

1999 4F (KFRBHFRN) FAEH “BHER", BIXMARHER. “GoR%iE 5500 &
B (P EAXEENETN 3000), UKHXEEAHREEARA (PFRRER0A AP
BEN), HFAEFHRBRIAERIERKES.” E3XFHRFLHELUE B 1999 48 6 A & 2000 4F 1
ABRRAZHE XL ARSI, RORAFEBEHET S, HE “KRATE” K
ANRELAH 123 4, 5 51.25%; WREALH 84 4, 5 35%; PEFEBHAE 16 45, &
6.67%; RA—MARRPRAMKEFRBAREA. Bk, BERTEXBANPYRATH, %8
—ERHEANAERLEN, AHERSHIBRPERTHALRONME, IR EERNATCET S
REABRANEY. RESEBMARESL—H—%, HE—E TS %FE G538 7 2 76 4
WEH, FEMBETT, ERRPFFAEQEL, RATE, REALES T B8N E
B4 o

1. wAAR

KEXRBAGERALAERASTABERASOBR, HAEHFR—MY: 1. AT NERS
i 2. EHHRERLAREXT; 3. BWARHRNA; 4. aWARBERGE (& ESE
"),

2. RESHETA

1997 4 1 A BUE WA SE R B K58 =% 4 81 FRE Vocabulary and Structure (FiT 515 3 2
) MiLB R — B Vocabulary (L) Rk,

B 1999 4F 6 A & 2000 4 1 ABGER K E RGEIL B HRELH, ROTUSH: =i
Wﬂiwﬁé%%u%ﬁﬁiﬁﬁﬁiow%@ﬁﬂ%ﬂi@*ﬁ%ﬂﬁMTﬁ##mﬂ*ﬁm
ﬁ$ﬁﬁ%ﬁ%ﬁ&%%§,ﬂﬁ%ﬁﬁ%%ﬁﬂﬁ%ﬁ&ﬁ&ﬂ*ikoﬁmm¢1ﬂ%ﬁm
EE%%W%W\%gﬂﬂZﬁ%iﬂﬂXW%ﬁ,ﬁ*ﬁﬁﬁﬁ%ﬁﬁuﬂ,5%%05%@
aﬁzﬂ,ﬁ&%%OEM&MWuﬁW:*%ﬁﬁ%ﬁ*ﬂi%ﬁ@ﬁ@ﬁi&wﬁmgﬁﬁ
2000 £ 1 A MEAHR,

AEEMN AR GE T RXNEH, 4 —FEEQ. B M)A E “best completes the sen-
tence”, X B “best completes” BE LA “BefE”, BN rRERITRBEN,



3. MBI
1) EBHIERR XA

MR DA BT B E AL A . FRE . RSIAREFHENARESI%S, EREHR
Ao A% A R AT BT LR E A —FAE, AT BAKNE A R RELRR
#, TEEREESMANRISTY, E4LETX, RBTHUBEREE, FEEHBREREER,

$1 1: Johnson had a science degree and experience in engineering technology.
A. varied B. variable
C. various D. variform

ER A, FERNAETRFRRE, HRRSREARF BN A. varied: of dif-
ferent kinds & FP & B ; not staying the same; changing Z4L 8. B. variable: changable
572 B . C. various: different from each other; of (many) different kinds & X & W ; &
MARK . D. variform: having various forms &R &K, NETLE, %I A, CHID
EHX EREE. BETCHD ZBHEHLA, T A BT84 348 U i
Baim, HEEX—RERERMNRIBEEE, HTURT ANETER,

#2: Although the body is made up of many different tissues, these tissues are arranged in an
and orderly fashion.
A. intricate B. initial
C. internal D. incredible (2000 4E 1 A %)

ER A XBHNNETENRS ERAEM, BENEERRAwERSGE, @A
EAR, HRRKRIT A ARIE LB . A. intricate: HZ489; WHITH. B. initial: B
H9; BB . C. internal: WHERY; PIZEM . D. incredible: 4 AL BS 49, I A R
BEE, MAERER,

$) 3: The vast majority of people in any given culture will to the established standards of
that culture.
A. confine B. conform
C. confront D. confirm (1998 4£ 1 B %)

ER Bo M3 E XBT. A. confine: BR&I; /3, ERS,; 26,
B. conform: (to, with) M<F; BER; MM ; #MMl; —F; 4. C. confront: 3 B
Bl; ®B; BREOLEX; E®; EXE; #4FEME. D. confirm: WX, HE; #—
PHE; Bk #HBE. BIEREE A to the established standards, I UHE B R&
BERER,

2) EI AR E iR E SR

Mﬁ%éﬁﬁlﬁﬁﬁlﬁ%ﬁﬁ%ﬁ%%ﬁ%ﬁﬂ,Eﬁ@ﬁ&%ﬁ%ﬁtﬁﬁ*&ﬁ%
EoﬁﬁﬁE,m¢ﬁm*%ﬁ¢ﬁﬁ¢uiﬂ%%%,ﬁﬁﬁmﬁwﬁoﬁﬁﬁﬂﬁﬁﬁiéﬁ
#%%%ﬁ*mﬁﬁ%ﬁo%%*ﬁ*&ﬁlﬁﬁﬁlﬂ,E*Iﬁﬁ&ﬁﬁmﬁﬁmﬁ,ﬁﬂx
WWLTI¢##%$E~§ﬂ$%§ﬂOﬁﬁﬁﬁ#ﬁﬁﬂ&ﬁ%ﬁ&%ﬁr,M%&%ﬁio
Eﬁﬁiaw,%EKE%T%E¢W%EE,E%Tﬁﬁ¢ﬂ%ﬁ&ﬁ%ﬁ.u&&ﬂﬁ%,ﬁ
B ETXREBERD, REERER,



# 1.

2.

B 3.

#ls.

Many people complain of the rapid __ of modern life.
A. rate B. speed
C. pace » D. growth

R Co ABMMRIF LRI LA A. rate: speed HE; HHE, B. speed: rate
of movement; distance divided by time of travel (GZEIEATH ) HE; HFE, C. pace:
rate or speed in walking, marching, or running, or of development, advance of a plan (T
. B, RBIITMKHE) BEE, D. growth: the act or rate of growing and develop-
ing ((ERERF) BHE. BIHHRNAUEL, BRFFRAHHEER, BRECHE
MHET™, EWARE “EBETENR, KEFHERRIMOBBEBRE, YORT CTH
ERNFBRAEELE R
All the soldiers were asked to give up their holidays on account of the national
A. crisis B. emergency
C. urgency D. emergence

BEEB, BN ETH A, B, CHRXIE, DI FHT. A. crisis: turning
point in the course of anything; uncertain time or state of affairs; movement of great danger
or difficulty fE#l; ERZR; X, B. emergency: unexpected and dangerious happening
which must be dealt with at once B2 F#., C. urgency: &2 urgent &R X, &
A THERN; REK”. D. emergence: (IEXFA) HM; B, BEMTEER “sol-
diers . . . holidays”, FHEREBI L RMFTEMNI S, RITATURE LT B A B ERLE X,
On Christmas Eve, they had several guests, who were friends of their son.
A. almost B. mostly
C. most D. nearly

R Bo A YA 3 I BE R KA X R E XL, A. almost: very nearly JLF.
B. mostly: mainly; in the great number of cases X EHi; BEH#, C. most: WiE A FE
REBER (EM) BRMEFFERLBIAR, EX “EH”, 1: most beautiful % &2,
most certainly ¥ H E . HAREB most tall 3% most quickly, D. nearly: almost; not quiet
or not yet completely JL¥; T, RBEERKMFBIEL “friends of”, %W B BT H 4
BERER.

: The fuel of the continental missile is supposed to be by this device.

A. ignited B. lighted
C. fired D. inspired (1999 £ 6 H %)

BERA AWK AR XHEN, HEESS5 19541 A5 67 B
A. ignite: SEEK; R, —MIEAMIERS I ME, SMRSIEE, B. light: AR, &
B, BERABRMER, TR (NBLT) %, C. fire: Sk, FMREs, — MR AE RUR1E
ABERE B KR F 5%, D. inspire: $EI; SHI; WMEBRE, WRIERBE S “The fuel
of..." (HATAE fuel B—MRE BB ERAME), HATTLABE A HEBEREER,
The Space Age in October 1957 when the first artificial satelite was launched by the
Soviet Union.

A. initiated B. originated

C. embarked D. commenced (1999 4 1 B %)
%R Do A. initiate: start something working (R¥Y)) FFih; Bith; B&; g7

f®; B (HAR); ik A B. originate: (cause to) begin (R#) #FF&; B A

3




“Her book originated in / from a short story.”, C. embark: (AK#) E&#F (B EHL; &K
*%); (on, upon) B F; I T . D. commence: begin; start (F R H) 1k
(1) Shall we let the meeting commence, gentlemen? (2) When you've finished your talking

I shall commence! RFEFB R EIBAMAE, ATUHE D NI EXBERER.

3) BRARKER R

WREFETLCHMEA P SHOLARK, HENRMRALEMEEAICHNmREHEN. B
RE: BRPRAREENALXERABREANELERE., BEEEY: (1) @iEFEEEa; Q)
REERBERFELS; 3) B#RAL; 4) BHEEZARBAEA, BEEREHE “best completes

the sentence” ,

Bl 1.

B 2.

#l 3.

In our highly technological society, the number of jobs for unskilled workers is

A. shrinking B. obscuring

C. altering D. constraining (1999 4 1 f & 8)
ER A, AEW Rz T XHEH . A. shrink: (cause to) become smaller (R K %)

WEF®%: ERTHEEMMNESREFERF G TERRIR T8 “WE”, Gy

B, W, e BIBE; - WWE; - BIBMF%, B. obscure: hide; make it difficult

to understand (X 47) HE#; #FMW. C. alter: (cause to) become different (B#H) {#25

B ¥, (FEY) ZTFE; %%, D. constrain: make someone to do something by

force 33 ; 3RH; M. MEABMWMA(ZE : the number of, BIRARSEE, &%

BENRBERER,

I think that I committed a in asking her because she seemed very upset by my ques-

tion.
A. blunder B. revenge
C. reproach D. scandal (1999 4 1 A% @)

BER A, BB R LT ER, A. blunder: a very stupid or unnecessary mistake
(TH) REZ2; BENSE,; A EEM4S, FE: make/commit a blunder, B. re-
venge: (ARAI¥) ML, Fitk: take/get/exact (one’s) revenge on someone for. . . ; in re-
venge for..., C. reproach: criticize (someone), esp. for not being successful or not doing
what is expected #7¥; H%&; @K, HE. reproach someone with/for, D. scandal: ac-
tion or event that causes a public feeling of shock and strong moral disapproval B /& ; H 8 ;
HE; SIRMBRERZE ., REAFEREEE: 1 committed a. . . AwgAEE, &
AILUBE ANEBEREER,

His directions confused us, we did not know which of the two roads to take.
A. ambiguous _ B. complicated
C. arbitrary D. intricate (1999 4E 6 H £8)

ER A, KEWNRE 1A E LT, AL ambiguous: having or expressing more than
one possible meaning, sometimes intentionally B & 3% 3% & B R ¥ 19 , BBREAY, Ak
BH, %5 deliberately, somewhat 254, BWEEN ., XEERXTY ERMEB, WS
EBEEMNER, B. complicated: having many different parts or features that make it diffi-
cult to understand or deal with BHEYARBS KZALRTESL; BE; BRE, WAk
MAYIHERE ., PL3E. B, B, BFEAREZ, C. arbitrary: (8 A) £#K; R
Bif; €8A9; £F MW, D. intricate: be made of a complicated series of small parts or



details T HART M FATME & BMELIFR, FLiEHN complexo,

] 4: Parents often faced the between doing what they felt was good for the development
of the child and what they could stand by way of undisciplined noise and destructiveness.
A. junction B. paradox
C. premise D. dilemma (200041 A %/8)

BERE D, BB AL LB, A. junction: BEG A ; (HBEEEM) 244 4; ¥
#., B. paradox: a situation, fact or statement which seems impossible and / or difficult to
understand because it contains two opposite facts or characteristics F /& K15, BH R
%o C. premise: (S3() Ai#; B¢, D. dilemma: difficult choice to be made between 2
courses action, both undesirable (#EiB WX ) F3E; EHE, A ¥E: be in a dilemma
about. . .; be caught in/facing the dilemma of doing something; be faced/confronted with
moral/ethical dilemma of whether to do something; resolve the. .. dilemma of whether. . .
BMEBEBEE R faced the ... REMAE, RIITURERTA D HEFMERER,

# 5: The manager tried to wave aside these issues as details that would be settled later.

A. alternate B. trivial
C. versatile D. preliminary (2000 4 1 A %)

ER B, AW AT 217 H X BEH. A. alternate: AARAEM, B. trivial: of little
worth or importance Bi#E#; MARBEH . C. versatile: X EEH, D. preliminary: %
BERY; BEAK, WM BHAEE, HAFTEERER,

4) RMABEREERAEEEER

BOEREERANTEREEHEEN, LEEEINBIRAREUBL,

BEREENWRAUTILA: (1) $HAEE: s+ A/BI/%; s+ 8+ 9, 5+ Z+
Q) RABEFE: B+Rs M+ B B+hs A+L+0; B+ A +%; B4+ 4%, RGE S E
HEREEETFEHMNEERET, RITAFERBR b —ATH BN EGENEE, BRES, 8%
RIS EIE A G & SR, A BN R R TR,

— BRI, RE¥ELIREHRLEHRRY, — M ERE—ICE, BOREZE (LR
) WIEMAYE, MHAKDERENEE . :

BB AE R R R T SARNEHXE, BWHEIA S ZAMEH, 0 raise a question; %&id5
SAMER, 0 a check for $800; EAASZEMEM, W heavy snow; A SEAMER, B
WHEARMERS%, HoshiA 54 K ERRREmEEE, WMATE R BIA 48 & [
raise a question” ) “raise” A—F, BEERAUY “H1i# application. W protest., B warn-
ing” FRIHMMER, “REBH” MY “fie an application”; “#HMHFIL” MK “raise (lodge) a
protest”; “{RHBWE” MK “give (serve) a warning” ,

REFEEXFEROEIR, REDFRES idiomatic, B WS T {75 # BC 09 iF 8% Bt B 8,
BEBREANRER DL NI RS, REZTHOHRREIERIAER T, MG, UEBFE
WL,

B 1: The wood was so rotten that, when we pulled, it into fragments.

A. broke away B. broke off
C. broke up D. broke through (2000 4 1 J % 8&)
BERCo ABHHAGIE, B (R—) i+ (AR BliE+ (F—) friFlfgiE
BT A. break away: R, SRITHE . B. break off: HMf; RAREE. C. break
5




up: ITH; ¥, D. break through: Hl; M. CHAEE, HNEHREE,

#] 2. The detective and his assistant have begun to the mysterious murder.
A. look into B. see to
C. make over D. come through (2000 4E 1 A %)

BER A, AEHHEEE, BshE+ A EME BT, A look into: H#; ML,

B. see to: X ; BB, C. makeover: (WL HBHIA) E; (%@L) #ik. D. come
through: &5 EH; BAEL . ARGERE, RINEHER.

#1 3: The goal is to make higher education available to everyone who is willing and capable

his financial situation.

A. with respect to B. in accord with

C. regardless of D. in terms of (1999 £ 1 A £ 8&)
BERCo BBEANMFAEBEFANHEN . A. with respect to: XF; EF, B. in accord

with: He-—8; 5. HF S, C. regardless of: AE; A, D. in terms of:

e B IR, M FHERR. CHEEE, MIFHER,

# 4. When he tried to make a » he found that the hotel was completely filled with be-
cause of a convention.
A. reservation B. chaim
C. mess D. revision (1998 4F 6 B %)

ERA. (RESHILE 1998 46 6 AM 1999 41 A %2 BK) A8 H3hia + 4R EE
R U H o A, reservation: = (%) booking 3T fi, B 3: make a reservation
for...; confirm a reservation; cancel a reservation, B. claim: BR; BA; HEE, M
¥ : consider one’s claim; have a claim to something; make wild claims about doing some-
thing; make no claim to be something, C. mess: BERA, WERE; BAWEE, H
¥, F¥: make a mess; clear up a mess; be a mess of something; be in a mess; get oneself
into a mess; sort out the mess; make a mess of something, D. revision: #iT; #&; &
ﬁ; @ﬂ‘ﬂi, %ﬂ}%ﬁ; ig; B3, BHE: do revision; do no revision, iﬁﬁlﬂ)‘(;ﬁﬁ?ﬁ
MIATLAE . BR AL B, CENMSETEA L5301 make BEHEH, HOH AKLE
B, HANEKEERER,

#5: If you want to set up a company, you must with the regulations laid down by the

authorities.
A. comply B. adhere
C. confirm D. accord (1999 4£ 6 H* )

BER Ao AR IAIEEEH IR LB A, comply (with): BM; KM: M.
B. adhere (to0): #iBff; B{E. C. confirm: HARWENH, RS with . D. accord
(with) : HMRFE; H—B; HAE., BXECBHRITTIUES. A 5D ¥ 5 with %
B, BEDS5EEAR, RAREEERESR,

4. WS

RIC&S—(HI5—)

Directions: There are 10 incomplete sentences in this part. For each sentence there are four choices
marked A, B, C and D. Choose the One that best completes the sentence. Then mark the

corresponding letter on the Answer Sheet with a single line through the center.




1. I suggest we put the scheme into effect, for it is quite .
A. feasible B. eligible

C. probable D.sustainable (2000 4 1 A %)
2. The old gentleman was a very looking person, with grey hair and gold spectacle.
A. respective B. respectable
C. respectful D. respected (2000 £E 1 A% &)
3. Under the guidance of their teacher, the pupils are building a model boat by steam.
A. towed B. tossed
C. propelled D. pressed (2000 ££ 1 A% /)

4. England’s team, who are now superbly fit, will be doing their best next week to them-

selves for last year’s defeat.

A. remedy B. revive
C. revenge D. retort (20004 1 B %)
5. If you work under a car when repairing it, you often get very
A. greasy B. sticky
C. slippery D. waxy (2000 4F1 A£8)
6. He claimed that the government had only changed the law in order to their critics.
A. appease B. apprehend
C. appeal D. applaud

7. It is unlikely that sufficient teachers will be found unless there is improvement in salaries

and conditions of service.

A. subjective B. subtle
C. substantial D. subsidiary
8. Some girls don’t sit down to proper meals nowadays, they just
A. graze B. grill
C. grease D. grasp
9. With the Greens Tom was able to his passion for the outdoors, especially swimming.
A. induce B. indict
C. indulge D. indicate
10. We asked the to have the broken window in our apartment repaired.
A. superior B. superintendent
C. superiority D. superstition

WIC&S] (5 —)

Directions: There are 10 incomplete sentences in this part. For each sentence there are four choices
marked A, B, C and D. Choose the One that dest completes the sentence. Then mark the
corresponding letter on the Answer Sheet with a single line through the center.

1. The damage to his car was ; therefore, he could repair it himself.
A. appreciable B. negligible
C. considerable D. invisible (20004 1 A %)

2. The book is about how these basic beliefs and values affect important of American life.
A. facets B. fashions




C. frontiers D. formats (2000 41 AE/M)

3. Clark felt that his in one of the most dramatic medical experiments of all time was worth

the suffering he underwent.

A. appreciation B. participation

C. presentation D. apprehension (2000 4 1 A %)
4. Sadly, the Giant Panda is one of the many species now in danger of

A. migration . B. extinction

C. destruction D. extraction (2000 4 1 A %)
S. In of the older girls, even the ten-year-olds have started wearing lipstick and make-up.

A. adoption B. application

C. admiration D. imitation
6. A is a shop or a part of a shop in which medicines are prepared and sold.

A. pharmacy B. phase

C. philosophy D. phenomenon
7. Beijing’s parks have into colour in the last week.

A. exploded B. extracted

C. explored D. extinguished
8. She reached a reasonable level of in her English.

A. competence B. complement

C. competition D. complexion

9. The footballer scored with such that the goalkeeper didn’t stand the chance of saving the

goal.
A. velocity B. veil
C. velvet D. vein

10. It was my supervisor bringing me back to reality with
A. jog B. jar
C. jug D. jolt

WL&I=(HE—)

Directions: There are 10 incomplete sentences in this part. For each sentence there are four choices
marked A, B, C and D. Choose the One that best completes the sentence. Then mark the
corresponding letter on the Answer Sheer with a single line through the center.

1. Since the two countries couldn’t their differences, they decided to stop their negotiation.

A. rectify B. oblige
C. reconcile D. obscure (1999 4E 6 H %)
2. The kitchen was small and so that the disabled could reach everything without difficulty.
A. conventional B. compact
C. compatible D. concise (1999 4E 1 A %)
3. Franklin D. Roosevelt argued that the depression stemmed from the American economy’s
flaws.

A. underlining B. vulnerable

C. vulgar D. underlying (1999 4£ 6 H % )



4. Some studies confirms that this kind of eye disease was in tropical countries.

A. prospective B. prevalent
C. provocative D. perpetual (1999 4E 6 A%£/E)
5. One day back to my barracks after hours on the obstacle course I found a yellow envelope on my
A. bunk B. bundle
C. bun ‘ D. bunch
6. The girl led the way into one of the little open rooms or where people sat to drink together
at a table.
A. comparisons B. compassions
C. compartments D. compensations

7. Do you know how to play ?

A. device B. dice
C. devil D. dew
8. His cheek with nervousness.
A. queried B. quivered
C. quested D. quit
9. The woman ahead hesitated and almost
A. stumbled B. stunned
C. stumped D. stunted
10. She shaded her eyes and the room.
A. scanned B. scarred
C. scale D. scared

WRIC& M (#H15—)

Directions: There are 10 incomplete sentences in this part. For each sentence there are four choices
marked A, B, C and D. Choose the One that best completes the sentence. Then mark the
corresponding letter on the Answer Sheer with a single line through the center.

1. The cultures of China and Japan have shared many features, but each has used them according to its

national
A. engagement B. destiny
C. capacity D. temperament (1999 4F 6 H % &)
2. 1 was deeply impressed by the hostess’ and enjoyed the dinner party very much.
A. hostility B. indignation
C. hospitality D. humanity (1999 4F 6 5 %)
3. As you have seen, the value of a nation’s currency is a of its economy.
A. reaction B. reflection
C. response D. revelation (1999 4E 6 % )
4. We should make a clear between the two scientific terms for the purpose of our discussion.
A. separation B. discrimination
C. deviation D. distinction (1999 4E 6 B %)

5. The of old technology has slowed the company’s growth.



A. retention B. retreat

C. retort D. retrospect
6. Every parent will be dragged along to one of these entertainment ____ at least once this summer
holidays.
A. establishments B. esteems
C. estates D. estimates
7. He owns of land in Alexandria, the Sydney industrial suburb where his headquarters and

warehouses are surrounded by space to build into.

A. atmospheres B. hectares
C. hemispheres D. hardwares
8. When the dress business goes soft, Discovery’s coordinates go into overdrive and vice-ver-
sa.
A. labels B. labours
C. laboratories D. laces

9. When a Hong Kong company runs out of money, its lenders have all the

A. leverage B. liability

C. levy - D. liberty
10. She looked up at the sky and shuddered.

A. sullen B. token

C. sudden D. tolerant

WIC& IR (HI5—)
Directions: There are 10 incomplete sentences in this part. For each sentence there are four choices
marked A, B, C and D. Choose the One that best completes the sentence. Then mark the

corresponding letter on the Answer Sheer with a single line through the center.

1. In the past ten years skyscrapers have been developed in Chicago and New York City.
A. homogeneously B. simultaneously
C. spontaneously D. harmoniously (1999 4 1 A %)
2. When he realized he had been to sign the contract by intrigue, he threatened to start legal
proceedings to concel the agreement.
A. elicited B. excited
C. deduced D. induced (1999 % 1 H#&)
3. An obvious change of attitude at the top towards women’s status in society will through the

current law system in Japan.

A. permeate B. probe
C. violate D. grope (1999 4£ 1 H£&)
4. Bill is an example of a severely disabled person who has become at many survival skills.
A. proficient B. persistent
C. consistent D. sufficient (1999 4 1 H#H)
5. A US attempt to a target warhead in space failed on Saturday.
A. intercept B. interfere
C. interrupt D. intervene
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. Texas Governor George W. Bush, the Republican residential nominee, called the test failure a “dis-

appointment” and said he would make the new defence systema ___if he succeeds Clinton.
A. private B. priority
C. privilege D. privacy
. He tells how he was in San Francisco, after his parents had met on the boat from Australia,
and married in the city’s Grace Cathedral.
A. deceived B. conceded
"C. conceived D. concentrated
. Peacock can always the people he meets, whether it is Brighton Young Liberals or Asian
businessmen.
A. enact B. engage
C. endeavor D. engrave
- As a private citizen, he sees no obligation to open himself to further
A. scrutiny B. screech
C. scrub D. screen
Political colleagues suggest that was his fatal flaw.
A. vanity B. valve
C. variety D. vault
C&IR(KHZ)

rections; There are 10 incomplete sentences in this part. For each sentence there are four choices
marked A, B, C and D. Choose the One that est completes the sentence. Then mark the
corresponding letter on the Answer Sheet with a single line through the center.

- The fire has caused great losses, but the factory tried to the consequences by saying that

the damage was not so serious as reported.

A. derease : B. subtract

C. minimize D. degrade (1999 £ 1 A #£/)
- If the world is to remain peaceful the utmost effort must be made by nations to limit local

A. collisions B. combats

C. contradictions D. conflicts (1999 4F 1 A #5%)
. All individuals are required to to the laws made by their governments.

A. obey B. conform

C. concede D. observe (1999 4£ 1 H#8%)
. They stood gazing at the happy of children playing in the park.

A. perspective B. view

C. landscape D. scene (1999 41 A £&)
- He stood on the platform, a huge bunch of flowers in one hand and a suitcase in the other.

A. bulging B. crammed

C. overflowing D. packed
- Japan exported $ 97 billion in to the US in 1992,

A. commodity B. trademark

C. commerce D. merchandise

11




